K+3=29 |34-r=30




THE ADDITION PROPERTY OF EQUALITY THE SUBTRAGTION PROPERTY OF EQUALITY

We can add the same number to BOTH sides We can subtract the same number from BOTH sides
of an equation and the equation will remain true. of an equation and the equation will remain true.




@‘Q Whatis the relationship between

addition and subtraction?

Addition and Subtraction are INVERSE OPERATIONS. This means that one UNDOES the other.




(€ =7 19%

SOLVE: tofind the values of the variable that make the equation true
How to solve an equation:

1 Whatever we to to one Side of an equation, we must tdo
" exactly the same thing to the other side of the eguation.

92 Isolate the variable by using inverse operations to
" UNDO whatever has heen done to it.

Remember that an equation begins perfectly halanced,
and we must always keep it that way.
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Multiplication and division are INVERSE OPERATIONS. This means that one UNDOES the other.



exs) 9Nl =-21 ex6l -2X =-22

[n=-9 x =1\

ex7 E — 12 = There is ALWAYS a

3
w = Db




ex9) Suppose thatyou buy aplasmaTy
and 12 DVDs. The cost of the TV
is $2500 and the total charge
without tax is $2662. What is the
cost of each DVD assuming that
they are all the same price?

ef - 4he cost o ore DYD

Cost of Cost of  _
plasmo TV ' JADVDs Tofa Cl\mﬂoe

2500 *+ 1dx = b
|Ax = lbd ﬁThe cost of |
eac\h DVD
X =9 | $3.50.




Remember:
1. Rlways work on the side of the equation that contains the variahle.

2. Useinverse operations to isolate the variable.
3. Inatwo-step equation, itis easier to undo addition and subtraction first.

exi0) 4a-95=11 ext)

& = lo .
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“An =\l

exid) -8-2N1=3
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Combing (ke terms on the seme
<ide of the equation wheneves possible

el IN-AX-95=-32
D% -5=-33

ax = -4

)




Solve each equation. Show all work. N :
To clear fractions in an equation:

ex19] r r 3 Muitiply every term in the equation hy the

—+—=—

2 3 a1 common denominator of all the fractions.

o+ Yc = 9
10c =4




